	Manchester v Merseyside 2005.

by Boris Ewart

The neat play available on this hand was ruined by the appalling defence:
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2( was 9-12 6 suit in 4th position.


	W led (4 to (10 and (K. E then got too busy when he cashed (A and W played the (4 – presumably to discourage as E now led the (10. S got this right when he ducked so the (A won. A simple finesse of the (Q now provided 10 tricks. If E had continued with the (3 – won by the (K then S still gets home by the execution of a Strip-Squeeze on W. He runs the ( winners to come down to:
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	On the (J, W has to discard the (8, N discards the (5. The (7 is led and if W plays the (6 then N wins with the (8. The

(J now goes to the bare (A who has to lead into the (AJ. 

E can break up this ending in various ways:

1.Simply returning the (5 will break the link to the ( threat.

2.Instead of cashing the (A leading the (3 will provide W with an exit card as the count has not been rectified.

	Even more appalling defence let in this game:
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3NT was 12-15 with 4( - Bal.


	W led (4 to (A. The hand looks easy until E discards (3 when the (4 is led to (K. It got worse when W ruffed the (K after the (A was cashed. The (5 went to (K – ruffed with (3. S crossed to (Q, ruffed the (9 and back to (A. The (3 came next and E helped by playing the (10 to (K and (A. W got off lead with the (Q – ruffed by N. E had been discarding ( when the ( were played and now chose to discard the (9 coming down to bare (Q. S now end-played him with the (8 to lead ( back into the (98 position.

I don’t know why E did not keep a winning ( or wasted the (10.
	Frank Brown and Dave Audley collected the biggest penalty of the match 1NT-XX – 6

for 2200. This was another case of forgetting the system as 1Nt was doubled and then re-doubled – meaning bid 2( I have a 5 suit to run to but the opener took it as to play.

There was also another lapse in concentration when one player pulled out the 2( bid after his partner opened 1NT. He realised his mistake and changed it to 2( - (Transfer to 2() but his partner passed as he mentally had seen 2( and thought that was the contract. 4 down on a 4-1 fit was not a good result.

	Keeping silent was the key to this hand:
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	10 tricks were duly made when S played for the 1-1 ( split. At other tables N only bid 3( or E had doubled the ( raise. This pushed S to the save in 5( over 4( that duly made when S played E for the ( void on the bidding.

This one was a ‘steal’.
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 2( was Multi. W led the (6 ducked to (K.

You have to decide fairly quickly to drop the (2 or (7 to give the impression to E that W has good (. I played the (2 and E continued with the (8. W should have bid 3( over 2NT to show 4-4 majors. If N still tries 3NT then E knows to switch to (.

Manchester won quite comfortably.


